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Did effort to reduce noise
A.Taketani,J.Tojo,M.Togawa

* Put bias resister (more higher ~20M)

[\

e Change power supply for VME
— VME emits noise (~100kHz)
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Test Mode Linearity
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S/N ratio (from TEST MODE)

vis MAX PED _ c vis MAX MIP
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Noise

Load Capacitance of our sensor (C,)
— Verl.: 10pF Ver2.: 15pF
Chip specification
— VA2 : 80+15/pF e rms
— SVX4 : 675+45/pF e rms
Expected noise
— VA2 : ~230 e rms (C;~10pF), ~305 e rms (C ~15pF)
— SVX4 : ~1125¢e rms (C;~10pF), ~1350e rms (C~15pF)

Now Our noise, 600e-
— unknown./ 4 X sqrt(6002-2302) ~ 554

SVX4A [ (unknown/ 4 XA EKDH ET B &)

— (Si+SVX4) /) A4 Z+58 3K/ A X : sqrt(13502+5542) ~ 1460
— S/N : 15000 / 1460 ~ 10.3



